Q @ é ‘m é Negativa exponenter pa 10

fama: Datum: Poing;
1079 = 106D =
1072 = 3% 1002 =
3x10% = 6% 10% =
1079 = 1002 =
8x10° = 1003 =
1072 = 1004 =
112,7+ 107 = 1002 =
109 = 4% 1002 =
1072 = 100D =
107 = 1 x10? =
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Q @ é m é Negativa exponenter pa 10

namn: Datum: Poing:
107 = 0.001 1077 =0.1
1072 = 0.01 3% 107 = -0.03
3 x 10% =300 6 x 10% = 600
1072 = 0.001 107 = 0.01
8 x 10% = 800 107 = 0.001
1072 = 0.01 107 = 0.0001
112,7+ 107% = 1127000 1072 = 0.01
107% = 0.0001 4 x 107 = 0.04
1072 = 0.01 1077 =0.1
107 = 0.001 1 x 10> = 100
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